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A0tE THOH Ol &AL 500,000 600,000 100,000
401 A& HIZLS0HY| 500,000 600,000 100,000
01 Al&HI 500,000 600,000 100,000
OZAGHE THOH OIS Al 500,000
oH = 2F ASHR ZHIALS 100,000 100,000 0
401 AIEHIZL20HHI 100,000 100,000
01 AlEHI 100,000 100,000
OXHoll =2+ AotA KHoH ol 2t
20,000,000 & #5214 100,000
oA 89,665 36,989 52,676
otd KXl 89,665 36,989 52,676
101 2124 d| 7,673 9,665 A1,992
M IIZHNZ2 2 NS Es 7,673 9,665 A1,992
Ot ze|d 29 7,673
=Jl=22 78,9003 x2H 30 4,734
—=54 78,9003 x2H x2E +6 1,8%4
—E XY 78,0022« 121 158
—H2E= 887,000& 1 887
201 B2 AY| 78,152 24,444 53,708
01 At 2elt] 6,652 5,884 768
OB EEHEN P 60,000 x2SET 120
Odt&2e| g2 AIREEHI
80,0002 =123 960
Ootd =gEE &%, SX=EXE M
50,0003 #5004 2,500
Odtd gl =2l 8,000 x4+ 123 +8 3,072
02 B22gH| 71,500 18,560 52,940
OJtsE, uEXYg, EXIXNEHI] &S
100,000 *22JH A% 123 26,400
OJsE & EXXHI| 7AI=eld]
3,000,000 *10JH 2 30,000
OctdgR 28 sJIfE ¢
2,500 *1,0000H 2,500
OAGHE ADIEAS I3
100,000& *7H A% 123 8,400
OASHE ADEAHS SHe:=
50,000 x7IH A% 123] 4,200
202 O4H| 3,840 2,880 960
01 =LHOdH] 3,840 2,880 960
Ootd=g & SXEH
20,0002 4B+ 12 x4 3,840
ot M PE 1,401,941 1,634,308 A232,367
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SA CHET
M ol &a D
Rl MEoN &5 (EEEE))
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
< 22,000
s 1,379,941
g MY AF 913,041 908,308 4,733
CV SE2MAE 29 913,041 908,308 4,733
201 er23| 417,261 429,936 A12,675
01 At2teltl 12,000 14,000 /2,000
OZNUE 28(HIE, eXg S)
500,000 * 122 6,000
Ofal & HX|2e|l 228
6,000,000 * 14 6,000
2 35244l 405,261 415,936 210,675
OCClV HE3H 2= 256,980
—JIE 75,0003 x2802| & x 12 252,000
—&l 2 83,0008 +302| &+23 4,980
OV &1 2= 4,600 x2940 A+ 128 16,229
Oogd CTV Al
728,000,000 *5%+1. 1 40,040
OXEE=0CTV =Al2el
363,700,000 5+ 1. 1 20,004
OZMAIAE =Xl2e] 72,008
—ot=0 576,737,323 * %1 .1 44,409
—ATEN 228,086,362 * 11%*1.1 27,599
202 04l 2,880 3,840 A960
01 =LHAHI 2,880 3,840 A960
OZtNad gRFa
20,0003 x3H *43]x 123 2,880
307 @I2to1 & 479,700 464,532 15,168
05 git?(& = 479,700 464,532 15,168
OCCTV SEZMUE 2N CI2t2AE
39,975,000 «12& 479,700
405 AHaHE S 13,200 10,000 3,200
01 AL =S F = 13,200 10,000 3,200
OZ&4NE AECIX CA3T FY
2,200,000 *64! 13,200
MEOIN =2 488,900 726,000 A237,100
S 22,000
o 466,900
FOIMEOrN CCTV £X1 & 2t 267,600 438,000 A170,400
401 Al HIZ R 0HHI 267,600 438,000 170,400
01 AlZ8| 265,600 436,000 A170,400
ont=ed CCTv WAl
13,600,000 1504 2= 204,000
Oogd CCTV ==3t0ict wAl 61,600
—AEUH=EE 12,200,000 *37H 2= 36,600
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Rl MEoN &5 (EEEE))
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
—Sg4E 5,000,000& 54 2 25,000
03 Al 2 0HYI 2,000 2,000 0
OOr=2d CCTV X1 A2 0HYI 2,000
FHE CCTV £XIXZAS 110,000 170,000 60,000
== 22,000
o 88,000
401 AIEHIZ SR HYI 110,000 170,000 260,000
[ 22,000
T 88,000
01 Al&HI 110,000 170,000 60,000
OgyHE v £X 110,000
= 22,000
= 88,000
Motatats =29 111,300 88,000 23,300
201 er23| 111,300 87,300 24,000
01 AtR2t2|HI 31,380 31,380 0
OgAl 28,980
—=3 60,0003 *365& 21,900
-2 60,0002 x1H 116 6,960
-2 60,0003 =2 120
Ogzld 2H(HIZ, 22 3)
200,000& * 128 2,400
02 s3=gbl 79,920 55,920 24,000
OUEEAIE Ste=s
2,500,000& ~12& 30,000
OlZ2AId &K= 160,000« 12& 1,920
OUBEAE RIUES
2,000,000 12& 24,000
OXINIZEAE RAES
2,000,000& 128 24,000
HH2IJHI(LEHH L) 24,537 25,716 AT1,179
Jl=23H 24,537 25,716 A1,179
JI=23Hl 24,537 25,716 A1,179
201 fet= 3| 18,441 19,260 A819
01 AtR2t2|HI 18,441 19,260 AB819
QtER== 3,467
=N 20,0003 x55* 122 x90% 1,080
— XXl 13,0002 175+ 123 %90% 2,387
OSAEA 7Y
25,0002 * 102+ A*122 %90% 2,700
O=AD| itz 770,000 * 12 »90% 8,316
OARd 223 7
200,0003 x 122 x90% 2,160
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SA CHET
M HAPAZH|(SHEILD)
Chel: J1=2 &l EER=E)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
OMRag2S)| UXIE
52,9002 123 635
OARAANTIHA SXE
42,9003 128 515
OBIIZED| 2H2
27,0003 =2t 122 648
202 04l 2,8% 2,8%
01 2LHoIH 2,856 2,85
ORA2Y 240
20,0003+ 172 *12&+0.7 2,8%
203 =2l 3,240 3,600 A360
MU FA2SHIFII 3,240 3,600 A360
ORAMEZE =4
300,000& 122 x90% 3,240
HRES (L) 300,000 300,000 0
WA XIE 300,000 300,000 0
JISHE 300,000 300,000 0
RJ1sdES 300,000 300,000 0
01 JIsdEsS 300,000 300,000 0
OMtt2edl=s JE 300,000
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